Example: Slice and Block Changes As HWM or NR Change

CHWM=NR=100 aMW

Available FBS Energy = 7000 aMW
Block = 30 aMW

Slice = 1.0% (70 aMW)
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Rate Period High Water Mark Drops By 10%

RHWM =90 aMW (10% drop)
Available FBS Energy = 6300 aMW
Block = 27 aMW

Slice = 1.0% (63 aMW)
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Rate Period High Water Mark Drops By 40%

RHWM = 60 aMW (40% drop)
Available FBS Energy = 4200 aMW
Block=18 aMW

Slice=1.0% (42 aMW)
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Rate Period High Water Mark Increase By 10%

RHWM = 110 aMW (10% increase)
Available FBS Energy = 7700 aMW
Block=23 aMW

Slice=1.0% (77 aMW)
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Net Requirement Drops by 10%

NR =90 aMW (10% drop)
Available FBS Energy = 7000 aMW
Block = 20 aMW

Slice = 1.0% (70 aMW)
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Net Requirement Drops By 40%

NR = 60 aMW (40% drop)
Available FBS Energy = 7000 aMW
Block = 0 aMW

Slice = 0.857% (60 aMW)
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Net Requirement Increases By 10%

NR =110 aMW

Available FBS Energy = 7000 aMW
Block=30 aMW

Slice=1.0% (70 aMW)
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